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Question 1 [2]
Simplify the following expression:

52x—1 . (aZ)x—Z
(5a)2x—3

Question 2 [4]
Perform the following operation by making use of long division:

(3x3-5x2 +10x-3) ~ Bx + 1)

Question 3 [2]

Rationalise the denominator of the following fraction:

T
S
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Question 4

Factorise the following expressions completely:

41 27t3—64

42 (x+4)3x-2)+(x+4)?*(x—2)2

Question 5

5.1 By first factorizing, simplify the following expression completely:

x2+x—6~x3—2x2>< 1
3x2 —12x  x?2—-16  x+4

5.2  State any restriction(s) that x have in Question 5.1.
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Question 6 [6]
Solve for x in the following equations:
x+4 x+5

6.2 Vx?2+5=4 [3]
Question 7 [4]
Given the following inequality: 3_72x <11

7.1  Solve for x: [3]

7.2 Represent your solution on a real-number line. [1]
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Question 8 [3]

Solve for x and y simultaneously in the following system by making use of substitution:

5x—-2y=6

3x +4y =14
Question 9 [8]
For the following function: flx) =x*—x—12
9.1 Determine the y-intercept. [1]
9.2 Determine the x-intercepts. [2]

9.3 Determine the turning point. [2]




Mathematics for Finance and Business 1A — MATDCA1 — Exam — 2016

9.4  State the axis of symmetry. [1]

9.5 Graph the function using the information obtained above. You must clearly label

all axes, intercepts and the turning point. [2]
Question 10 [4]

In the following exponential equations, solve for x:

10.1 (3*=9)(3*+9)=0 [2]

10.2 2%+2 4 2% = 40 [2]
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Question 11 [8]

In the following logarithmic equations, solve for x:

11.1 log,(x +2)=5 [2]
11.2 log(x+2) +log(x—1) =1 [4]
11.3 In2x—1) —In(1) =0 [2]
Question 12 [3]

ABC Industries manufactures coffee mugs. The combined cost of labour and material is
R15 per unit. Fixed costs are R15,000. If the selling price of a mug is R30, how many
must be sold for the company to make a profit?

End of Assessment — Total 56 Marks
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Use this space if you want to redo a question. Clearly indicate at the question
that the answer is on Page 8.




